Algebra

Quiz Review
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Determine whether the relation is a function.
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Function Notation. Find the requested value given the following two functions.

a(x)=x-8 h(x)=x*-3x

4. g(8) 5. h(-2) 6. find xwhen g(x) =10
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. 10. Identify the slope and y-intercept of the 11. Graph 2x -4y <8
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11. Find the slope for the following 2 point (2, 4) and (5, 7)
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12. Write the equation of the line going through the point (-2, 4) and (3, -2)
-6
& -2 O y-4=F(x+2)
342 J
\ Wt = Bx - LY
= +4 +4
5 ‘
. — __-T-—j'f"'::—-j'f-w" e
1 L
% e
\\\____ e




